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Experimental Arrangement

Measurement Systems

Results

Purpose

The objectives of the experiment are to examine the surface pressure distribution and to compute the lift force acting on an

airfoil.

Test Design

A Clark-Y airfoil is set in the test section of an open-throat wind tunnel. The lift force on the airfoil is determined by integration of the

measured pressure distribution over the airfoil's surface. Measurements are made using an automated data acquisition system

(ADAS) sketched in the figure below.

Data Analysis
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Compare measured data with reference

data at same Reynolds numbers.
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Comparison of reference data and experimental results
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